Vocas Systems b.v. info@vocas.com www.vocas.com

Q?f@@@@ Sony 8T to 15 mm viewfinder bracket
0350-1475

Version Date: 12-4-2016 16:27

Item No| Part Numbe Qt Description

1 09.026.01 1 | Spring 6,5x5,5xL10

2 09.016.03 1 | Nut M4 for winged nut hexagonal
3 11.007.01 1 Ring 4,3x8x0,5 Din 433 St-Zn

4 11.008.03 1  Winged nut hexagonal small

5 04.037.01 1  Screw M4x25 din 965 A2

6 11.285.01 1  Sony 8T to 15 mm adapter female
7 12.013.02 1  Screw 1/4"UNC X M6 X 19 A2

8 12.011.01 1 Ringd6,5D10

9 09.075.01 1 Winged nut M6 Il

10 0350-9060 1  Bar 60mm Assy




